4h

24h

24h

3] o
1 ]

EN
I

LAMA3

[1Smad4 -
I Smad4 +

TGFB
TNFa
LAMA3
12.5-
[ 1Smad4 -
10.04 [N Smad4 +
3
2 75
9
S 504
['4
[
2.5+
0011 r= —
TGFB -4+ = + - +
TNFa - = 4+ + -
LAMA3
30~
[ISmad4 -
I Smad4 +

+

+
+

LAMB3

[1Smad4 -
57 mmSmad4 +
3 4
=
]
<
b4
X 2+
€
1-
0-
TGFp = + = + =
TNFo = = + + =
LAMB3
7.5
[ 1Smad4 -
m [ Smad4 +
2 5.04
o
Q
<
b4
X 25=
E m
0.0 |—I—||_I—|
TGFp = + = + =
TNFo = = + + =
LAMB3
6-
[1Smad4 -
w5' [ Smad4 +
%4.
8
<3
4
o 2=
£
1-
o-
TGFp = + = + =
TNFo = = + + =

1 +
+ 1

1 +
+ 1

+ +

+ +

LAMC2
6-
[1Smad4 -
51 EESmads +
2 4
Qo
8
< ¥
P4
o 2=
£
1=
o-
TGFp = + = + -
TNFo, = = + + -
LAMC2
12.5-
[—1Smad4 -
” 10.0- [ Smad4 +
[
g 7.5-
9
<Zt 5.0~ ﬂ
4
£
2.5+ ﬁ
TGFp = + = + -+ = +
TNFo, = = + + - - 4+ +
LAMC2
15=
—JSmad4 -
N [ Smad4 +
.g 10+
o
9
<
2
X 5=
[
0-
TGFp = + = + -
TNFo, = = + + -




